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8.
9.
10.

For Exercises 8-10, refer to the figures below.

Explain why x must equal 5.
Explain why /D must be a right angle.
Explain why / R’ must be a right angle.

Ex. 9 Ex. 10

Tell whether a triangle formed with sides having the lengths named is acute,
right, or obtuse. When it isn’t possible to decide, write can’t tell.

13,

14.

15

11, 11, 15 2.9,9,13 3. 8, 8V3, 16
0.03, 0.04, 0.05 5. 300, 400, 501 6. 0.6, 0.8, 1
5n, 12n, 13n 8. n+4 n+5n+6 9.7 —-—n71,7+n
where n >0 where n > 1 where 0 <Zn <3
Given: ZUTS isart. 2. 11. Given: AC L plane P
Explain why A TRS must be a right tri- Explain why A BCD must be an obtuse
angle. triangle.

A

Sketch /FABCD with AB = 13, AC = 24, and BD = 10. What special
kind of parallelogram is ABCD? Explain your answer.

Sketch /7RSTU, with diagonals intersecting at M. RS =9, ST = 20, and
RM = 11. Which segment is longer, SM or RM? Explain your answer.

Given: A triangle with sides a, b, c;
a=n?—-1;b=2n,c=n%+1 1
Prove: The triangle is a rt. A.
The sides of a triangle have lengths x, x + 4, and 20. Specify those values
of x for which the triangle is acute with longest side 20.

Right Triangles / 259
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